Year 4 Spring 1 Maths Activity Mat 1

Section 1

Round these numbers:

Section 2
Start at 5.

Count back 10.

Section 3
Cath earns £2938 each month.

In April, her monthly pay goes

Section 4
Write these numbers as Roman
numerals:

to the to the
nearest 10 | nearest 100 What number do l::l)e beirilr(l):\,(\j? HZ\:IE mu.-Ch does o4

5248 you reach? 0 48

972 < 63

2494
Section 5 Section 6 Section 7 Section 8
Write a number which There are 2195 people in a Calculate: Estimate the answer by rounding,
is a two-digit number, a village. 1428 of the people then solve the calculation.
multiple of 8, and where use the village shop at least
the product of its digits once a week. How many 164 + 87 =
is 24. people do not use the shop 11 x 10 x 3 =

regularly?

Estimation

Actual
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Year & Spring 1 Maths Activity Mat 1 - Answers

Section 1 Section 2 Section 3 Section 4
Round these numbers: Start at 5. Cath earns £2938 each month. Write these numbers as Roman
Count back 10. In April, her monthly pay goes numerals:
to the to the £1 _H h
What number do up by £1000. How much does 94 XCIV
nearest 10 | nearest 100 she earn now?
you reach?
5248 5250 5200 48 XLVIII
972 970 1000 63 LXTII
2494 2490 2500
-5 £3038
Section 5 Section 6 Section 7 Section 8
Write a number which There are 2195 people in a Calculate: Estimate the answer by rounding,

is a two-digit number, a
multiple of 8, and where
the product of its digits
is 24.

64

village. 1428 of the people
use the village shop at least
once a week. How many
people do not use the shop
regularly?

167

11 x 10 x 3 = | 330

then solve the calculation.

164 + 87 =

Estimation

varied

Actual

251
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